
MATH 12003 ADDITIONAL PROBLEMS SECTION 8.4

PROBLEMS:

1.

∫
x + 3

x2 + 2x + 2
dx

2.

∫
2x + 1

x2 + 4x + 5
dx

3.

∫
x

x2 + 6x + 10
dx

4.

∫ 1

0

x− 1

x2 + x + 1
dx

5.

∫
2x− 1

x2 − 6x + 11
dx

6.

∫
4x + 10

x2 + 6x + 8
dx

7.

∫
5x + 24

x2 + 10x + 24
dx

ANSWERS:

1. 1
2
ln |(x + 1)2 + 1|+ 2 tan−1(x + 1) + C

2. ln |(x + 2)2 + 1| − 3 tan−1(x + 2) + C

3. 1
2
ln |(x + 3)2 + 1| − 3 tan−1(x + 3) + C

4. 1
2
ln 3−

√
3π

6

5. ln |(x− 3)2 + 2|+ 5√
2

tan−1(x−3
2

) + C

6. ln |x + 2|+ 3 ln |x + 4|+ C

7. 2 ln |x + 4|+ 3 ln |x + 6|+ C


